HswSEDO IHousSEDO HsuSEDO HousEDO

l1ouseDO

HswsEDO

I YtEIESR
‘91,2004
CKF

SRIZETLEVM!
zitron_Toaa 10BERIC

‘-ualmﬁ

RER Fos;?ﬁii;s
BT EEAEI506-4

HsGSEDO HousEDO HsuSEDO

BLG D@D 0 Tl )
)\"774‘" LRSS 'hfﬂ'g
9 11/256226 0=

HswSEDO

HswSEDO HousEDO HsuSEDO

HswSEDO

HswSEDO

HswSEDO

HswSEDO

O KZH] TR =8

KARBTREERFE THES 155! i
KA BETHES 15! 35075FEI
[z K4 2A350mm 9,46] o

*5;;;;%4]’5\ m. bes] A —F R0MDEE
— W)\ MR
r CEOEESEED

P [ZR]JRBRIR FRETRER 1%*3’1 5
#HLy(mlemzemnR(L])
439.66ni(132.994F) [RIE]
64.18mi (19.414F) (] KEEE

FREIRIBM44FIAE 0

Ok /5

*H29F6AUT+—L

!

* EEEE2 A TTHE!

H’e fEA6807H
febz] A —F20m0%EE

06805m

18,382m
WAL MR

[32) JRACEAIR FIEER 15259
[FrlEmEA[£]1107.01m
(32.374F) [#3€]70.38mi (21.28
) [ RE 2P [S£] BBA594
12A% gy

QIEETM ./ NH] w=s)

* IS TR BT -
K EREEIE A TE! 7 8075 A
& mvems 91 085m

W) MESR
[ 50K J

[ZR] =3/ it 5105 [Pﬁ]
AR IETF 1/ AET[+£]210.05
m (63.5418F) [E%E]85.45m
(25.844F) [B] REAL — &2
BER(E]BI63FIRE sy

E.- |

ol g |W6

09505m

d =
B mes 25 6811

WA HENER MERRER

pEFR] 5LDK
(3] =582 FEE 535
(Pl h AT [ 1] 257 64
(77.394F) [E%]136.13m
(41.173) VB RS R B 2R

() PR 7R% s

O EFE2T B #iiits)

*nzsz—w071-0501,2805m

*EIEEIEALTEE! =

R myamn 34 602m
BERE)NER WERBHRER

[R]IRICHER BRER £
F182 [T mRE2TH
[1]194.58ni (58.864F) [
¥£]183.43mi (25.235F) [BIA
BAL— 2R (] TR
F11A%E

(fihgr)

A KEHRERE A @it
*H2AEEDZER! A
* 1 BEsEIE A1 - FRIE SRR rﬁa‘s%%z;"i
AHEIBAETTHE %7 —

02,4805m

67, 042F?l

i

[’T&]JR%E%‘ZM»? Fol 8 BR ﬁ
S110 [Flem¥EHE (L]
| 178.53ni(54.00%F) [32
FE]107.64m (32.563F)
[BIAREZL — B2k
[E] Fr24E1BE

(fifigi)

o QEE‘H ]

*H27%E8H
UZJx— L\’ﬁ'r

*%iﬁia (e

=Cl[:1 I

*iiﬁﬁ*ﬂfe; I
T

K TS FSRE!

l:250ﬁm

ull B2 [59NB
6| BE1278 33,791m
WIp\ER BAERPER
(EDENED

[(R]E#* AT ER XER 2510

| Al EHmARHRAE[L]

1 172.22m (52.094F) [BIE]

' 60.45ni(18.28%F) (Bl RERE
FRE[E]BH61E3FE

K EKINVERE THEH 95!

* EIEEIZ2 A TTHE!

1,35055

(R0 36,494m

WK\ IR
4LDK

[ZR] =3 #WE50 €105
[FrlsemEEA[£]1108.45m
(32.804F) [#£#E]97.14n1(29.38
) (Bl ARERL — NE2RE R (58]
TH7E10R%E o

© AEtH] tHGRL) ARFR
X EEEEEE! 02,4905~

*BIEIE35 m—
el o el B 67,312m
* 4 LDK201m4! W52\ 25 BARRER

T [RAEHEEERE AR
sim 26 | R Es200(mlEs

AETE[£]214.00
m(64.733F) [BIE]
108.88mi (32.934F)
[#] A& 2p 5 [£] 7
RL294E5 A%

(fihgr)

O AEREHH] i)

S T 12,6987m
H23EED r&m‘z 72 935|=a
s

[RE#AEER AEBR £5
159 [Fr] 32 A B 5 SRy
| [£]1139.14ni(42.085F) [&

¥E]113.80n1 (34.423F) [##]
BRERER-V—7—/\XRILE2
BEEE [ FRR23ETRE ()

O THAIHTRE wes)

=
o pey B1:13507m
3 A 2 [INEEV:) 36,494FE]

PEg A—F A0M0BE
BELENER BEREPER

(EOEENEED

[ =%\ T8 £535 (Al
BT A EDEE [1£]284.29n
(85.99%F) [BIE]101.02n
(30.553F) [BIRERE2/RE
[$£]FBFI634E1 A&t (g

eExRE1THsmy
AHR9E7RUT 17— LA
A ERERE 555!

*H 19!

41,580

g1, yalz

end o 42,712m
BEREE/NER BETHER

[R]JRICEAR BRER EH50
[FlEmmRET TA[£]117.80m
(35.633F) [##E] 115.92ni(35.06
) (BIARER L — N E2RE 2 [] T

O I=EF R HH] wmes)
K1 HR 1 58! 11,8905m| |*

* IR 3 AT 5!
s e7n 51,092m

] I EEE R
i 4LDK

L [RIE#AEER FBH)IER 5E
e 5;‘!_]_'

$199 [Fr] A BR 12 B £ M AT
[+]258.15mi (78.093%) [#3E]
131.00n (39.624F) [BIAREE
BRI [ TH21 F4RE

HsGSEDO HouseDO HsuSEDO

HswSEDO

HsuSEDO  HsuSEDO

HewSEDO  HsuSEDO

HsuSEDO  HewSEDO

HswsEDO

*R—LILR—F—{FE!

*FAN—THE |
*EXESAL EATEE!

HsuSEDO

83,4805~

Ed =13,
Eevems 94 075/

WEEF WA
3SLDK

[R]=3/\R == fE49 [AT] 2
LR E [+]191.60m (57.955F)
(R3] 199.97 1 (60.495F) [#] A&
By F ik E3RE (L] FR29FE
6A% )

HsuSEDO

HsiSEDO  HeuSEDO

HswSEDO




